4-in-1 Flip Pool Table

Black

7'

After-sales mailbox:
Homefurnitureserviceteam@outlook.com



NOTICE S —

Please keep these instructions for future reference.

Dear Customer

@ Thank you for your purchase. When you receive the product, please make sure
that all the parts are intact. If any parts are missing, please contact us promptly to
request replacement parts.

@ Then follow the entire installation instructions to install.

@ Each part is crucial, so please be careful not to lose any. It is recommended to
store parts with different lettered identifiers in separate boxes or bags to avoid
confusion during installation.

. The outer box is damaged

. The product is damaged / bent / cracked while you open the box

. The parts / accessories / assembly tools are missing

. The instructions are not clear and can not be referred

. The product has functional problems

Mmoo W >

. Other aspects that you are not satisfied with
Please feel free to contact us for help. Our after-sales team service
(Homefurnitureserviceteam@outlook.com) will reply within 24 hours and will do our

best to resolve the problem for you.

01



Air Hockey Table Pool Table
1 PC 1 PC

P3 P4

Table Tennis Surface Leg A
2 PCS 1 PC

PS5 P6

Leg B Leg Support
1 PC 2 PCS

02



Leg Side Panel

Leg Short Panel

2 PCS 3 PC
PO P10 P11
Plastic Tray B Puck Catches

1 PC 1 PC 2 PCS

P12 P13 P14

Latches Leg Leveler Cue Holder

4 PCS 4 PCS 2 PCS

P15 P17
Billiard Ball Triangle Brush
1 SET 1 PC 1 PC

03




PART LIST

©
|/

P1

QECDafcﬁ

P20

Cue Stick Chalk Hockey Striker
| 2 PCS 2 PCS 2 PCS
P21 P22 P23
=1 > @

Hockey PUCK

Table Tennis Paddle

Table Tennis Ball

2 PCS 2 PCS 2 PCS
P24 = | P25 #1
Table Tennis Net Support Brace Screw #8X31mm
1 SET 1 PCS 28 PCS
#3 #4 #5 #6
W D)
T ® |
Screw #8X14mm | Bolt 1/4"*2-3/4"  Bolt 1/4''*2-1/4"' Washer 1/4"*16mm
39 PCS 8 PCS 12 PCS 12 PCS
#7 #8 #9
&7
Barrel Nut Desktop corner protector|  Allen Key Tool
20 PCS 4 PCS 1 PC

04




STEP

Please take out all the parts and accessories
which kept inside the table before installation.

#3 P12 #3 P12

05



STEP

06



STEP

(WY
-

Y & \
\\\@
& & | N
w5 &s
\ I\ P\

07



STEP

08



Open the clasp to flip the tabletop

The blower system is turned on

when the power is on

09



AFTER-SALE o—

AFTER-SALE SERVICE

If you have any suggestions for our products or notice
any quality issues, please contact us first. Our after-sales
team will respond within 24 hours and will do everything
possible to provide you with a satisfactory solution.

Guaranteed Customer Service

Your shopping experience is very important to us!
Feel unsatisfied? Contact us!
Have any questions? Contact us!

Wanna share how wonderful our smart products make

your home?

Share your pictures with us.
Any suggestions? Contact us!
We gotcha back!

@ Homefurnitureserviceteam@outlook.com




